## **BID TABULATION**



Innovative approaches Practical results Outstanding service

CLIENT: City of Seguin
PROJECT: Hidalgo St. and Roosevelt Dr. Roadway and Utility Improvements
BID PACKAGE NO. TF-2019-13

PROJECT NO: SEG16427 BID DATE: February 26, 2019

BID PA	CKAGE NO. TF-2019-13			HIDALGO ST	. AND ROOSEVE	T DR. IMPROVE	MENTS				
				Cox Commercial Construction		R.L. Jones LP		Rockin Q Construction		D. Plata Construction	
Item No.	Description	Unit	Estimated Quantity	Extended			Extended				1
				Unit Price	Amount	Unit Price	Amount	Unit Price	Extended Amount	Unit Price	Extended Amount
Utility Bid Items           Furnish and install by open cut, 12-inch diameter         Utility Bid Items											
1	ASTM PVC D3034, SDR26 sewer main including excavation, bedding, backfill, tracer wire, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	2,015	\$88.00	\$177,320.00	\$100.00	\$201,500.00	\$74.00	\$149,110.00	\$48.95	\$98,634.25
2	Furnish and install by open cut, 8-inch diameter ASTM PVC D3034, SDR26 sewer main including excavation, bedding, backfill, tracer wire, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	1,753	\$80.00	\$140,240.00	\$40.00	\$70,120.00	\$62.00	\$108,686.00	\$30.24	\$53,010.72
3	Furnish and install by open cut, 6-inch diameter ASTM PVC D3034, SDR26 sewer main including excavation, bedding, backfill, tracer wire, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	40	\$95.00	\$3,800.00	\$46.00	\$1,840.00	\$56.00	\$2,240.00	\$53.78	\$2,151.20
4	Furnish and install 4-inch sewer services, all lengths, including excavation, backfill clean-out, concrete encasement, and all appurtenances complete as specified in the plans.	EA	60	\$1,350.00	\$81,000.00	\$2,000.00	\$120,000.00	\$1,100.00	\$66,000.00	\$1,179.01	\$70,740.60
5	Furnish all material, labor, equipment, and appurtenances for reconnecting existing sewer services, all diameters, complete as specified in the plans.	EA	60	\$500.00	\$30,000.00	\$200.00	\$12,000.00	\$750.00	\$45,000.00	\$240.00	\$14,400.00
6	Furnish and install, precast 48-inch manholes with ring and cover including excavation, bedding, backfill, coating, grouting, inflow preventers, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	20	\$5,200.00	\$104,000.00	\$8,500.00	\$170,000.00	\$4,500.00	\$90,000.00	\$7,200.48	\$144,009.60
7	Furnish and install, precast 48-inch drop manholes with ring and cover including excavation, bedding, backfill, coating, grouting, inflow preventers, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	1	\$7,400.00	\$7,400.00	\$12,000.00	\$12,000.00	\$7,800.00	\$7,800.00	\$21,186.00	\$21,186.00
8	Furnish all material, labor, equipment and appurtenances to rehabilitate and connect to existing manhole, complete as specified and indicated in the plans.	EA	3	\$4,300.00	\$12,900.00	\$4,000.00	\$12,000.00	\$1,200.00	\$3,600.00	\$3,720.00	\$11,160.00
9	Furnish all material, labor, equipment, and appurtenances to install Class C Concrete Cap, complete as specified and indicated in the plans.	CY	1	\$2,000.00	\$2,000.00	\$300.00	\$300.00	\$500.00	\$500.00	\$600.00	\$600.00
10	Furnish all material, labor, equipment, and appurtenances to install Cement Stabilization, complete as specified and indicated in the plans.	СУ	2	\$2,000.00	\$4,000.00	\$150.00	\$300.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00
11	Furnish all material, labor, equipment, and appurtenances for abandoning existing 6-inch sewer lines and filling with flowable fill, complete as specified and indicated in the plans.	LF	1,743	\$1.40	\$2,440.20	\$7.00	\$12,201.00	\$6.00	\$10,458.00	\$7.23	\$12,601.89
12	Furnish all material, labor, equipment, and appurtenances for abandoning existing 8-inch sewer lines and filling with flowable fill, complete as specified and indicated in the plans.	LF	1,002	\$2.40	\$2,404.80	\$7.00	\$7,014.00	\$8.00	\$8,016.00	\$9.25	\$9,268.50
13	Furnish all material, labor, equipment, and appurtenances for abandoning existing 10-inch sewer lines and filling with flowable fill, complete as specified and indicated in the plans.	LF	751	\$3.60	\$2,703.60	\$7.00	\$5,257.00	\$10.00	\$7,510.00	\$10.24	\$7,690.24

	HIDALGO ST. AND ROOSEVELT DR. IMPROVEMENTS										
Item	Description		Estimated Quantity	Cox Commercial Construction		R.L. Jones LP		Rockin Q	Construction	D. Plata Construction	
No.		Unit		Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount
14	Furnish and install by open cut, 16-inch diameter AWWA C900 PVC, DR-18 water main including excavation, bedding, backfill, tracer wire, joint restraints, thrust blocks, dewatering, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	30	\$150.00	\$4,500.00	\$130.00	\$3,900.00	\$165.00	\$4,950.00	\$84.00	\$2,520.00
15	Furnish and install by open cut, 8-inch diameter AWWA C900 PVC, DR-14 water main including excavation, bedding, backfill, tracer wire, joint restraints, thrust blocks, dewatering, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	3,329	\$70.00	\$233,030.00	\$85.00	\$282,965.00	\$55.00	\$183,095.00	\$37.54	\$124,970.66
16	Furnish and install 3/4-inch water services, all lengths, complete as specified and indicated in the plans.	EA	44	\$1,200.00	\$52,800.00	\$1,800.00	\$79,200.00	\$745.00	\$32,780.00	\$1,003.18	\$44,139.92
17	Tapping Saddle for 3/4" Water Service Connection	EA	44	\$550.00	\$24,200.00	\$200.00	\$8,800.00	\$237.00	\$10,428.00	\$390.00	\$17,160.00
18	Furnish and install fire hydrant assembly, including ductile iron piping, gate valves and all other appurtenant work complete as specified and indicated in the plans.	EA	8	\$4,500.00	\$36,000.00	\$7,000.00	\$56,000.00	\$5,000.00	\$40,000.00	\$8,760.00	\$70,080.00
19	Furnish and install 8-inch gate valve, valve box, and all other appurtenant work, complete as specified and indicated in the plans.	EA	17	\$1,600.00	\$27,200.00	\$2,000.00	\$34,000.00	\$1,500.00	\$25,500.00	\$3,120.00	\$53,040.00
20	Furnish and install 16-inch gate valve, valve box, and all other appurtenant work, complete as specified and indicated in the plans.	EA	2	\$6,400.00	\$12,800.00	\$9,000.00	\$18,000.00	\$6,000.00	\$12,000.00	\$9,840.00	\$19,680.00
21	Furnish and install meter box, reset the existing 3/4- inch water meter, including all appurtenant work complete as specified and indicated in the plans.	EA	44	\$700.00	\$30,800.00	\$300.00	\$13,200.00	\$400.00	\$17,600.00	\$447.85	\$19,705.40
22	Furnish and install tracer wire test stations, complete as specified and indicated in the plans.	EA	11	\$900.00	\$9,900.00	\$500.00	\$5,500.00	\$400.00	\$4,400.00	\$240.00	\$2,640.00
23	Furnish all material, labor, equipment, fittings and appurtenances to connect to existing 2" water line, complete as specified and indicated in the plans.	EA	6	\$2,000.00	\$12,000.00	\$1,200.00	\$7,200.00	\$1,300.00	\$7,800.00	\$360.00	\$2,160.00
24	Furnish all material, labor, equipment, fittings and appurtenances to connect to existing 6" water line, complete as specified and indicated in the plans.	EA	1	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,440.00	\$1,440.00
25	Furnish all material, labor, equipment, fittings and appurtenances to connect to existing 8" water line, complete as specified and indicated in the plans.	EA	4	\$4,000.00	\$16,000.00	\$2,000.00	\$8,000.00	\$3,100.00	\$12,400.00	\$2,040.00	\$8,160.00
26	Furnish all material, labor, equipment, fittings and appurtenances to connect to existing 16" water line, complete as specified and indicated in the plans.	EA	1	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00	\$4,680.00	\$4,680.00
27	Furnish all material, labor, equipment, and appurtenances for abandoning existing 2-inch water lines and filling with flowable fill, complete as specified and indicated in the plans.	LF	1,494	\$1.00	\$1,494.00	\$2.00	\$2,988.00	\$4.00	\$5,976.00	\$5.44	\$8,127.36
28	Furnish all material, labor, equipment, and appurtenances for abandoning existing 6-inch water lines and filling with flowable fill, complete as specified and indicated in the plans.	LF	1,873	\$1.40	\$2,622.20	\$4.00	\$7,492.00	\$6.00	\$11,238.00	\$6.20	\$11,612.60
29	Furnish and install ductile iron fittings, all diameters and types, complete as specified and indicated in the plans.	TON	4	\$500.00	\$2,000.00	\$5,000.00	\$20,000.00	\$10,000.00	\$40,000.00	\$4,800.00	\$19,200.00
30	Furnish all material, labor, equipment, and appurtenances for adjusting meter boxes, complete as specified and indicated in the plans.	EA	20	\$350.00	\$7,000.00	\$200.00	\$4,000.00	\$225.00	\$4,500.00	\$372.00	\$7,440.00
31	Furnish and install 2" permanent blow-off, complete in place as specified and indicated in the plans.	EA	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$6,480.00	\$6,480.00
32	Furnish and install 1.5-inch combination air release valve and vault, including all appurtenant work complete as specified and indicated in the plans.	EA	1	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$6,250.00	\$6,250.00	\$7,800.00	\$7,800.00
	Utility Bid Items Subtotal				\$1,057,554.80		\$1,191,777.00		\$935,337.00		\$877,688.94

	HIDALGO ST. AND ROOSEVELT DR. IMPROVEMENTS											
Item			Estimated	Cox Commercia	al Construction	R.L. Jo	nes LP	Rockin Q	Construction	D. Plata	Construction	
No.	Description	Unit	Quantity	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	
					Roadway Bio	<u>Items</u>						
33	For Mobilization and Demobilization described in the Contract Documents for the lump sum (Maximum 5% of total base bid amount) of:	LS	1	\$115,000.00	\$115,000.00	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00	\$159,600.00	\$159,600.00	
34	Preparation of Right-of-Way, including, but not limited to removing obstructions within the project limits, including trees, brush, miscellaneous debris, etc., removal and replacement of fences, clearing, and all other effort required to prepare the construction area for the work, not included in other bid items, complete in place.	STA	35	\$2,450.00	\$85,750.00	\$1,800.00	\$63,000.00	\$1,200.00	\$42,000.00	\$3,045.60	\$106,596.00	
35	Furnish, install, maintain, and remove Traffic Control Plan and devices required to construct the project, complete as specified and indicated in the plans.	LS	1	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	\$30,000.00	\$30,000.00	\$10,600.00	\$10,600.00	
36	For development, design, and implementation of a trench safety system as required by the Occupational Safety and Health Administration and the assumption of responsibility for said system, including all required trench safety for construction of water mains, sewer mains, storm mains and appurtenant structures complete as specified and indicated in the plans. (*Contractor shall insert quantity of trench safety required for the project. Contractor shall only be paid for trench safety installed.)	LF	* (7,855 LF Minimum)	\$2.00	\$15,710.00	\$2.00	\$15,710.00	\$2.00	\$15,710.00	\$3.60	\$28,278.00	
37	Furnish all material, labor and equipment to Excavate areas as shown on the plans or as directed to the the lines, grades, and typical sections shown on the plans.	CY	3,154	\$35.00	\$110,390.00	\$32.00	\$100,928.00	\$32.00	\$100,928.00	\$19.88	\$62,701.52	
38	Furnish all material, labor and equipment to place and compact Embankment material for construction as required as specified and indicated in the plans. Using Type A material and Density Control.	CY	87	\$35.00	\$3,045.00	\$15.00	\$1,305.00	\$13.00	\$1,131.00	\$5.84	\$508.08	
39	Furnish, install, and maintain 4-inch topsoil for all disturbed areas required for construction of the project, complete as specified and shown on the plans.	SY	1,226	\$11.00	\$13,486.00	\$17.00	\$20,842.00	\$7.00	\$8,582.00	\$6.48	\$7,944.48	
40	Furnish, install, and maintain block sodding for all disturbed areas required for construction of the project, complete as specified and shown on the plans.	SY	1,226	\$6.00	\$7,356.00	\$6.50	\$7,969.00	\$9.00	\$11,034.00	\$5.11	\$6,264.86	
41	Furnish all material, labor, equipment, and appurtenances to install Flex Base Tpe A Grade 1-2, complete as specified and indicated in the plans.	CY	2,686	\$40.00	\$107,440.00	\$48.00	\$128,928.00	\$60.00	\$161,160.00	\$50.87	\$136,636.82	
42	Furnish all material, labor, equipment, and appurtenances to install Prime Coat (MC-30), as specified and indicated in the plans.	GAL	1,135	\$3.00	\$3,405.00	\$5.00	\$5,675.00	\$7.00	\$7,945.00	\$3.50	\$3,972.50	
43	Furnish all material, labor, equipment, and appurtenances to install HMAC Type-D PG64-22, including, tack coat, complete as specified and indicated in the plans.	TON	1,304	\$85.00	\$110,840.00	\$100.00	\$130,400.00	\$121.00	\$157,784.00	\$92.91	\$121,154.64	
44	Furnish all material, labor, equipment, and appurtenances to install HMAC Type-B PG64-22, including tack coat, complete as specified and indicated in the plans.	TON	101	\$100.00	\$10,100.00	\$190.00	\$19,190.00	\$178.00	\$17,978.00	\$106.96	\$10,802.96	
45	Furnish all material, labor, equipment, and appurtenances to moisture condition 6" of subgrade, complete as specified and indicated in the plans.	SY	6,898	\$2.00	\$13,796.00	\$4.00	\$27,592.00	\$6.00	\$41,388.00	\$4.20	\$28,971.60	
46	Furnish all material, labor, equipment, and appurtenances for removal and replacement of existing concrete curb, all types, complete as specified and indicated in the plans.	LF	4,399	\$30.00	\$131,970.00	\$28.00	\$123,172.00	\$27.00	\$118,773.00	\$21.16	\$93,082.84	
47	Furnish all material, labor, equipment, and appurtenances for installation of concrete valley gutter, complete as specified and indicated in the plans.	SY	178	\$130.00	\$23,140.00	\$180.00	\$32,040.00	\$90.00	\$16,020.00	\$78.00	\$13,884.00	
48	Furnish all material, labor, equipment, and appurtenances for removal of existing concrete curb and installation of armor curb, all types, complete as specified and indicated in the plans.	LF	98	\$300.00	\$29,400.00	\$230.00	\$22,540.00	\$35.00	\$3,430.00	\$47.56	\$4,660.88	
49	Furnish all material, labor, equipment, and appurtenances for removal and replacement of existing concrete driveway, complete as specified and indicated in the plans.	SY	387	\$120.00	\$46,440.00	\$140.00	\$54,180.00	\$113.00	\$43,731.00	\$72.87	\$28,200.69	
50	Furnish all material, labor, equipment, and appurtenances for removal and replacement of existing asphalt driveway, complete as specified and indicated in the plans.	SY	161	\$124.00	\$19,964.00	\$60.00	\$9,660.00	\$100.00	\$16,100.00	\$75.87	\$12,215.07	
51	Furnish all material, labor, equipment, and appurtenances for installation of 4-inch concrete sidewalk, complete as specified and indicated in the plans.	SY	877	\$74.00	\$64,898.00	\$90.00	\$78,930.00	\$88.00	\$77,176.00	\$54.37	\$47,682.49	

	HIDALGO ST. AND ROOSEVELT DR. IMPROVEMENTS										
Item			Estimated	d Cox Commercial Construction		R.L. Jo	nes LP	Rockin Q	Construction	D. Plata Construction	
No.	Description	Unit	Quantity	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount
52	Furnish all material, labor, equipment, and appurtenances to install TX-5 Triaxial Geogrid or approved equivalent, as specified and indicated in the plans.	SY	6,898	\$4.00	\$27,592.00	\$4.50	\$31,041.00	\$8.00	\$55,184.00	\$3.00	\$20,694.00
53	Furnish all material, labor, equipment, and appurtenances for installation of TxDOT Type 10 Curb Ramp, including detectable warning surface, complete as specified and indicated in the plans.	EA	9	\$1,500.00	\$13,500.00	\$1,600.00	\$14,400.00	\$1,334.00	\$12,006.00	\$1,680.00	\$15,120.00
54	Furnish all material, labor, equipment, and appurtenances for installation of TxDOT Type 2 Curb Ramp, including detectable warning surface, complete as specified and indicated in the plans.	EA	4	\$1,500.00	\$6,000.00	\$2,600.00	\$10,400.00	\$1,261.00	\$5,044.00	\$1,500.00	\$6,000.00
55	Furnish all material, labor, equipment, and appurtenances for installation of TxDOT Type 1 Curb Ramp, including detectable warning surface, complete as specified and indicated in the plans.	EA	1	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,261.00	\$1,261.00	\$1,500.00	\$1,500.00
56	Furnish all material, labor, equipment, and appurtenances for removal and replacement in kind of improved mailboxes, complete as specified and indicated in the plans.	EA	6	\$250.00	\$1,500.00	\$400.00	\$2,400.00	\$979.00	\$5,874.00	\$1,800.00	\$10,800.00
57	Furnish all material, labor, equipment, and appurtenances for removal and replacement of mailboxes, complete as specified and indicated in the plans.	EA	32	\$250.00	\$8,000.00	\$150.00	\$4,800.00	\$326.00	\$10,432.00	\$360.00	\$11,520.00
58	Furnish all material, labor, equipment, and appurtenances for installation and removal of temporary mailboxes, complete according to requirements by the United States Postal Service.	EA	38	\$250.00	\$9,500.00	\$100.00	\$3,800.00	\$163.00	\$6,194.00	\$213.00	\$8,094.00
59	Furnish all material, labor, equipment, and appurtenances for asphalt trench restoration on Roosevelt, complete as specified and indicated in the plans.	SY	1,700	\$50.00	\$85,000.00	\$85.00	\$144,500.00	\$55.00	\$93,500.00	\$40.80	\$69,360.00
60	Furnish all material, labor, equipment, and appurtenances for installation of 24-inch white pavement marking (SLD), complete as specified and indicated in the plans.	LF	178	\$10.00	\$1,780.00	\$15.00	\$2,670.00	\$14.00	\$2,492.00	\$13.65	\$2,429.70
61	Furnish all material, labor, equipment, and appurtenances for installation of Stop Sign (R1-1), complete as specified and indicated in the plans.	EA	8	\$50.00	\$400.00	\$200.00	\$1,600.00	\$122.00	\$976.00	\$577.18	\$4,617.44
62	Furnish all material, labor, equipment, and appurtenances for installation of Street Name Signs (D3-1G), complete as specified and indicated in the plans.	EA	18	\$70.00	\$1,260.00	\$150.00	\$2,700.00	\$163.00	\$2,934.00	\$198.22	\$3,567.96
63	Furnish all material, labor, equipment, and appurtenances for installation of Speed Limit Signs (R2-1), complete as specified and indicated in the plans.	EA	2	\$60.00	\$120.00	\$300.00	\$600.00	\$122.00	\$244.00	\$577.18	\$1,154.36
64	Furnish all material, labor, equipment, and appurtenances for installation of sign posts, complete as specified and indicated in the plans.	EA	26	\$400.00	\$10,400.00	\$100.00	\$2,600.00	\$571.00	\$14,846.00	\$343.20	\$8,923.20
65	Furnish and install by open cut, 43 3/4" X 26 5/8" Class IV Reinforced Concrete Arch Pipe (Design 5) including excavation, bedding, backfill, dewatering, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	606	\$250.00	\$151,500.00	\$360.00	\$218,160.00	\$325.00	\$196,950.00	\$407.60	\$247,005.60
66	Furnish and install, precast 4-sided 3.5'x3.5' area inlet with manhole and concrete apron including excavation, bedding, backfill, coating, grouting, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	2	\$10,000.00	\$20,000.00	\$7,000.00	\$14,000.00	\$3,200.00	\$6,400.00	\$6,120.00	\$12,240.00
67	Furnish and install, Safety End Treatment Type II (Design 5) including excavation, bedding, backfill, pipe runners, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	2	\$10,000.00	\$20,000.00	\$8,000.00	\$16,000.00	\$5,479.00	\$10,958.00	\$5,400.00	\$10,800.00
68	Furnish all material, labor, equipment, and appurtenances to install Riprap (Stone Common)(Dry)(8 in), including geotextile fabric, complete as specified and indicated in the plans.	СУ	27	\$325.00	\$8,775.00	\$120.00	\$3,240.00	\$137.00	\$3,699.00	\$312.00	\$8,424.00
69	Furnish and install, Concrete Junction Box Special including excavation, bedding, backfill, grouting, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	1	\$17,000.00	\$17,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$9,240.00	\$9,240.00
70	Furnish, install, and maintain seed and hydromulch for all disturbed areas required for construction of the storm infrastructure, complete as specified and shown on the plans.	SY	446	\$2.00	\$892.00	\$4.00	\$1,784.00	\$5.00	\$2,230.00	\$7.20	\$3,211.20

	HIDALGO ST. AND ROOSEVELT DR. IMPROVEMENTS											
Item	Description		Estimated Quantity	Cox Commercia	al Construction	R.L. Jo	nes LP	Rockin Q Construction		D. Plata Construction		
No.		Unit		Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount	
71	Furnish and install by open cut, 2-inch diameter Schedule 40 PVC Conduit including excavation, bedding, backfill, and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	LF	48	\$85.00	\$4,080.00	\$40.00	\$1,920.00	\$50.00	\$2,400.00	\$44.30	\$2,126.40	
72	Furnish all material, labor, equipment, and appurtenances for installation of Traffic Signal Cable Type A, 7-Conductor #14 AWG, complete as specified and indicated in the plans.	LF	238	\$6.00	\$1,428.00	\$2.50	\$595.00	\$12.00	\$2,856.00	\$2.62	\$623.56	
73	Furnish all material, labor, equipment, and appurtenances for installation of Electrical Conductor No.6 Bare Gnd, complete as specified and indicated in the plans.	LF	48	\$5.00	\$240.00	\$3.00	\$144.00	\$6.00	\$288.00	\$2.28	\$109.44	
74	Furnish and install, Pedestrian Push Button Pole including excavation, backfill, foundation, connections and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	2	\$6,500.00	\$13,000.00	\$2,800.00	\$5,600.00	\$3,263.00	\$6,526.00	\$2,890.62	\$5,781.24	
75	Furnish and install, LED Countdown Pedestrian Signal Head including housing, mounting, connections and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	4	\$1,000.00	\$4,000.00	\$700.00	\$2,800.00	\$1,224.00	\$4,896.00	\$799.88	\$3,199.52	
76	Furnish and install, APS Pedestrian Push Button including housing, mounting, connections and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	3	\$2,000.00	\$6,000.00	\$1,900.00	\$5,700.00	\$1,387.00	\$4,161.00	\$2,019.52	\$6,058.56	
77	Furnish and install, Ground Box Type D (162922) With Apron including excavation, backfill, connections and all other appurtenant work not specifically included in other bid items, complete as specified and indicated in the plans.	EA	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,958.00	\$1,958.00	\$1,437.68	\$1,437.68	
78	Furnish, install, maintain, and remove, Inlet Protection as indicated in the plans	LF	54	\$4.50	\$243.00	\$10.00	\$540.00	\$25.00	\$1,350.00	\$18.00	\$972.00	
79	Furnish, install, maintain, and remove, Rock Filter Dam as indicated in the plans	LF	129	\$33.00	\$4,257.00	\$50.00	\$6,450.00	\$35.00	\$4,515.00	\$45.60	\$5,882.40	
	Furnish, install, maintain, and remove Temporary Sediment Control Fence as indicated in the plans.	LF	5,158	\$1.99	\$10,264.42	\$1.50	\$7,737.00	\$3.00	\$15,474.00	\$6.00	\$30,948.00	
	Roadway Bid Items Subtotal	=			\$1,392,361.42		\$1,557,742.00		\$1,481,518.00		\$1,395,597.69	
				Cox Commercial Construction		R.L. Jones LP		Rockin Q Construction		D. Plata Construction		
Roadway Bid Items					,361.42		,742.00	\$1,481,518.00		\$1,395,597.69		
	Utility Bid Items				,554.80		,777.00		5,337.00		,688.94	
	TOTAL BID ITEMS (ITEMS 1-80)				\$2,449,916.22		\$2,749,519.00		\$2,416,855.00		\$2,273,286.63	

	Cox Commercial Construction	K.L. Jones LP	ROCKIII Q CONSTRUCTION	D. Plata Construction
Roadway Bid Items	\$1,392,361.42	\$1,557,742.00	\$1,481,518.00	\$1,395,597.69
Utility Bid Items	\$1,057,554.80	\$1,191,777.00	\$935,337.00	\$877,688.94
TOTAL BID ITEMS (ITEMS 1-80)	\$2,449,916.22	\$2,749,519.00	\$2,416,855.00	\$2,273,286.63
	-			
Mobilization Percentage Check (Maximum 5%)	4.93%	4.17%	4.32%	7.55%